
WILF
• Recognise that decimals can be written as fractions.
• Recognise decimals as parts of a whole number.
• Use our knowledge of 100 to create fractions out of

decimals with denominators of 10 or 100.

WALT write decimals as fractions.
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What do you know about decimals?

Click the 
dinosaur 
for a
recap!

Just like fractions, Decimals are parts of a whole.
Fractions and decimals are therefore showing you the same 
thing in a different way.

https://www.bbc.co.uk/bitesize/topics/zsjqtfr/articles/zsbd7p3


Let’s take a closer look…
Look at the hundred square.
80 squares out of 100 are shaded in 
That is 8 lots of 10, or:

Decimals represent the same thing!
Think about your place value column.
If each line is of the whole,

that is one tenth in your column.
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Have a look at it represented with counters below.

8
100

0.01 0.01

0.01 0.01

0.01 0.01

0.01 0.01
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1
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1
100

1
100

1
100

1
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1
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1
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0.08

This works the same way for hundredths. If 8 out of 100 squares are 
shaded in, that is 0.08 – what would it be as a fraction?
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Decimal Fraction

0.20

0.73

Look at the table below. What is missing? Can any of them be 
shown with a denominator of 100 or 10, with a whole number as 
the numerator?

2
10

20
100

5
100
6
10
73

100
45
100

or

0.05

0.6

0.45



Remember, as parts of a whole number, decimals fit onto a number 
line. You can use equivalent fractions for these if they are tenths or 
hundredths. Please fill in the gaps and write each fraction as a 
decimal.

4
10

20
100 65

100

100

0 1



Check your answers! ☺

4
10

20
100 65

100

90
100

0 1

0.2 or 0.20

0.4

0.65

0.9 or 0.90



Time to complete your challenge for today.

Challenge time!



If you finish and would 
like a challenge…

Parvinder is thinking of a number. It is greater than     but less than 
0.65. Which of these representations could it be? 

Explain how you know if it is or isn’t.

4
10

0.1 0.1

0.1 0.1

0.1 0.1

0.1 0.1 0.1
fifty-five hundredths

No.
If we change all the numbers into 
hundredths:

4
10

40
100= 0.65 = 65

100
0.9 =

90
100

does not fit between     and 0.65.
4
10

90
100

Yes.
If we change all the numbers into 
hundredths:

4
10

40
100= 0.65 = 65

100

does fit between     and 0.65.
4
10

55
100

Twinkl slide.



For if you finish your work and want a challenge!

Complete the part-whole model. 
Use at least one decimal and 
one fraction:

20
100

0.04

0.05

5
10

15
100

74
100

There are lots of different ways to 
answer this question!

Twinkl slide.


